Linux it 4% .z & #ll3 J5 (1)

J1a]: 5H22-25 HHf20 A5






—
B— N AH

*LinuxiH A G %G . s BEAR. 531k, 1
R M AR

* 1¢Jt4j(j‘ 518\ E#], cpulimit

* PN A LS S

* task structPh ftask structz |85 £

* 1 WL fork A& /7

Hi|H|

41)

2k > il

* forkH) 51|+
* life-periodf5l v, WE{E
* F cpulimit#% il CPUR| F 2




it 1 1% wl JRPCB

task_ struct

pid

*mm

*fs

struct mm_ struct {
struct vin_ area_ struct * mmap;

} pgd_t * pgd;

struct fs struct {
* root,

*files

*signal

* pwd
b

struct files_struct {

struct fdtable fdtab;

struct file  rcu *
fd_array[NR_OPEN_DEFAULT];
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$ cat /proc/sys/kernel/pid_max
32768
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wait task zombie( wait opts *wo, task struct *p)

state, retval, status;
pid t pid = task pid vnr(p);
uid t uid = from kuid munged(current user ns(), task uid(p));
siginfo  user *infop;

('likely(wo->wo flags & WEXITED))

r

(unl I1)) {
exit_code = p- :

why;

—

get task struct(p);
read unlock(&tasklist lock);
sched annotate sleep();

( (EXEENESEE & 0x77) == 0) {
why = CLD EXITED;
status = EXIENEOHE >> 5;

{
why = ( & 0x80) ? CLD DUMPED : CLD KILLED;
status = & Ox7f;



===
N 77 0 3 T A7
AR: HBILT, AFRRER

P TH 7




W 17 M 3 K2 T A (cont.)?
Wﬁﬁs ﬂﬁﬁ%s Eﬁ:ﬂks %ﬂlﬂg#ﬂg




ctrl+ z, fg/bg
cpulimit

cpulimit -1 20 -p 10111

PR #illpid A10111F2 /7 1Y cpufd FH E AL 10%

s{t@p\ @@m{t\ s&@p\ @@mtt\
17 17 17

Bl




fork();
printf(“hello\n");

} s BHEE  RHRE

main() —

{ fork() E’EI%’ ';
or ’ fork
printf(“hello\n"); <::Ei:::> P2
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pid t pid,wait pid;
status;

main(

pid = fork();

(pid==-1) {
perror("”Cannot create new process");

exit(1l);
} (pid==0) {
printf(“a\n");
} {

printf(“b\n");
}

printf(“c\n");
(1);
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pid = fork();

(pid==-1) {
perror("Cannot create new process");
exit(1l);
} (pid==0) [
printf("child process id: %ld\n", ( ) getpid());
pause() ;
_exit(0);

N {

wait pid=waitpid(pid, &status, WUNTRACED | WCONTINUED),

(wait pid == -1) {
perror("cannot using waitpid function");
exit(1);

(WIFSIGNALED(status))
printf("child process is killed by signal %d\n", WTERMSIG(status));
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https://github.com/21cnbao/process-courses
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